6.6 See Figure 6.71. Determine the measurements

shown, on the civil engineer’s scales.

(A)

(B)

(C)

Figure 6.71
Problem 6.6 Reading civil engineer’s scales

Answers

2 A

||T[II|I||||||||!IIl.II[IJI iIIIIIII|1IIIi
10
0 1 2 " 12
09 85 9g S 2s 0s 214 )4 9 14 4 0og
G
[ b 3
B G
S

20

IIlI|IIIIlHII||I|I

[Itl}IITII—HIIHIII|III1|IFII[I
3

II||III|

III[IHIIIIII|I[H|I!II|HII|

0 1 2 4 5 6) 22 23 24
bRl s e s St i R e e R gl i R O O T g A D
14 av V24 14 oy 8g
4 14 [+ 0 ov
|
1
%
N
—=(3)
L L L L L e e iy
gg |
0 2 4 6 8 32 34 36
gt bR e e L S T e L e i b B e b T e s S L Ay
el oL 89 99 9 29 09 8s 95 8 9 4 2 0 09
} 16

© 0 N

10.
Ik
1:2-




